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'5566'Uﬂ§5Lb / MATHEMATICS

(50D wHMD <pridle eufl / Tamil & English Version)

HTe 3jemey : 3.00 wenfl CHIL | [ Qurss wHGuamrser : 100
Time Allowed : 3.00 Hours ] [Maximum Marks : 100

SMeyenrse : (1) Simarsg efamés@sn sfurs Q&0 ugeurdl &a’mﬁ:g;rr c?'rdﬂug,emafr
sllurTsgé CameTareyw. sFalugele @eopudulan A®DE
samsraiiurarfiLb o Laigurs Csflelssay.

2 Beob Soog sS®BUY @wuloern wLHCwW m@gjmgﬁ)@m
2 ECaTHausHGL Lwarl(hEs Geuamr(hd. UL MBIGET eUeTeUSD S
Quenfled Lwe(HSSELD.

~

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GPLY : @eeflemssrar B u@;_ﬂ,a;emm QarenTLg).

Note : This question paper contains four parts.

L@ - I /PART - 1

Goliy @ () Sjenensg NaTésEnsEL e waflsseab. 14x1=14
i) OGar@ssuulL wron deLseléd Waab qhymw efaLuloa
Coi05058 GOUIL AL el wieanyn Csisg eT(seLD-

Note : (i) Answer all the questions.

() Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer,
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1. (a+2, 4) whmid (5, 2a+b) dw aflewss CETGE6T S0 erafled, (a, b) eremug :
(=) (2, -2) (<) (5, 1) (®) 2, 3) (%) (3, —2)
If the ordered pairs (a+2, 4) and (5, 2a+b) are equal then (a, b) is :
(a) (2, -2 (b) (5, 1) (c) (2,3) (d) (3, -2

2. 65 wHmb 117-ufer 18.Qur.eu-eney 65m— 117 eranD auigaliey er(pg)b Gung), ‘m’-Gen

wdlliy :

(1) 4 (<) 2 (@) 1 () 3

If the HCF of 65 and 117 is expressible in the form of 65m—117, then the value of
wmas

(a) 4 (b) 2 () 1 (d) 3

3. t, aaug @ &Ll (g Aamfeuflensufen n -eugl 2 Ly erefay, tg, —t,, G)em iy :
(<=1) Bn-1)d (<) Bn-2)d (&) (7Tn-2)d (FF) (7nd)
If t, is the n'? term of an A.P., then tg,—t, is :

(a) (8n-—1)d (b) (8n—2)d (€ (7Tn—2)d (d) (7nd)

4. x2—2x—24 wpmIb x*—kx—6 -Wlen 15.Gume (x—6) erafled, k -ufam AL
(=1)3 (2$)5 (8) 6 (FF) 8
If (x—6) is the HCF of x2—2x—24 and x2—kx—6, then the value of k is :
(a) 3 (b) S (c) 6 (d) 8

5. x*+64 (P QUMESLONS LOTHY ASEIL 6 (AeauHeLameuDmET crands sl L CouemmHid ?
(1) 42 (<) 1622 (@) 8x2 () —8x
Which of the following should be added to make x*+64 a perfect square ?
(a) 4 (b) 16x2 () 8x2 (d) —8x2
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3
21ax+d aamm @GUy LodmULs Geraa X AECETH Qeul (B> yerefsefler
G EMS
(<=1) O () 1 (@) 0 woag 1 () 2 _
The number of points of intersection of the quadratic polynomial X2 +4x+4 with

the X-axis is :
(a) O b 1 (c) Oorl d 2

@ souss WeGsTard AABC -ulld |C =90° opmib AC=5 Q.5 erariled, AB e :
(=1) 2.5 Q&8 (<) 5 Q&8 (@) 10 Q.15 (/) 542 Q.15
If AABC is an isosceles triangle with |[C =90° and AC=5 cm, then AB is :

(a) 2.5cm (b) 5cm (c) 10 cm (d) 5y2 cm

AABC -u9é, AD <pang, £BAC -wlen @ sobai’y. AB=8 @g.8, BD=6 Q&.18
pHmb DC=3 Q.18 erafle) LgsDd AC -Ger Bemid :
(=1) 6 Q&8 (=) 4 Qg.18 (@) 3 Qa.iB () 8 Q&8

In a AABC, AD is the bisector of ZBAC. If AB=8 cm, BD=6 cm and DC=3 cm, the
length of the side AC is :

(a) 6 cm (b) 4 cm (c) 3 cm (d) 8cm

(5, 7), (3, p) HYID (6, 6) eramieam @ CHTLMLOHSME erafled, p’ -uflew &l :

(=) 3 (<) 6 (&) 9 (FF) 12
If (5, 7), (3, p) and (6, 6) are collinear, then the value of p’is :
(a) 3 (b) 6 (@) 9 (d) 12

(0, 0) wHmb (-8, 8) eremm Leraflsmar QamansEh CarlighHGés CemGssre
Gamiigen U6 :

(=) -1 (=) 1 (D) % () -8

The slope of the line which is perpendicular to a line joining the points (0, 0) and
(—8, 8)is :

(a) -1 b) 1 (©)

Wl

(d -8
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e Camyrsden 2 wipb-60 18 @b, Giluear sramibd appsGsraumd 30°-embgl 45°
<46 2 wHld Curg Camyrsdlen Hlpomeng) x S @eondng erafled, % -em U :

(24) 41.92 18 (<2p) 43.92 18 (@) 4318 (F) 45.6 18

A tower is 60 m high. Its shadow is x metres shorter when the sun’s altitude is
45° than when it had been 30°, then ‘¢’ is equal to :
(c) 43m (d) 45.6m

(a) 41.92m (b) 43.92m
TP QVGEHET QYU el G FO SanrsGararmsaien igUU@GSHs6r
QeanssiupL Gurg 2 meurEL SHarmngdlen LpLUTLILY

(=4) 4112 5.3 (=) 6712 &.9 (@) 3wr? 5. () 8mr? &.9)

If two solid hemispheres of same base radius T’ units are joined together along
their bases, then curved surface area of this new solid is :

(a) 4mr2 squnits (b) 6mr? squnits (c) 3wr? squnits (d) 87r? sq.units

@@ 2 everudlen b G L BISTETTED, 2 (HelmGSEILLL o (meverudler LSw s
<jarey QsTHEsUULL o mearuden searoiaTene el LOL_BIGTELD.

(1) L0 ()3 (@) 4 (/) 2

If the radius of the cylinder is doubled, the new volume of the cylinder will be
times the original volume.

(a) same (b) 3 (c) 4 (d) 2

S BUBSEG Caume SamLuugpsrar Hapssalrag) % Couemer HlenL&&MDE
QmuugpsTe Hlapsse, % erafled % -@en wdlliurerg) :

(=) 2 (<) 1 (@) 3 () 1.5

; , % fh ;
The probability of getting a job for a person is 3" If the probability of not getting

the job is —2-, then the value of ‘% is :
5

(@) 2 (b) 1 (c) 3 (d) 1.5
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sTeneuGueId 10 alammésEnsE el wealléseyb. elarm eram 28-&s

GLUEEIE
sL_Lmuwns eflevwefléseyid. 10x2=20

Note : Answer any 10 questions. Question No. 28 is Compulsory.

15. A={1, 2, 3} PO B={x|x erenuig 10 -g el § HHw usr ereum} eraied, AXB
Hmb BXA WeIDmns srens.
Let A={1, 2, 3}, B={x|x is a prime number less than 10}. Find AXB and BXxA.

16. uLSe sriLluulBerer SbyUEGDH UL rarg P wHNID Q SRS EH&ESTar
2 peveus @NSHaDE. @QBs 2 pee (i) sarslLewly Wen (ii) ULligwe

wpemsatied er(pSIs.
P Q

N

The arrow diagram shows a relationship between the sets P and Q. Write the
relation in (i) set builder form (ii) Roster form.

17. 13824=22x3b grafled, ‘@’ whmibd b’ -udler wHULS srewms.

If 13824 =22x 3P, then find ‘@’ and b’.

18. 16, 11,6, 1, ... eTenm sal (HGESTT cuflensufien —54 GTGTLIG,| TSSemaLITeg) 2 MUy ?
Which term of an A.P. 16, 11,6, 1, ...is —54 ?
[ﬁ@l:“-la;/ Turn over
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19. Qeeumn Careausafien el L WHLIL| Sramrs.

p + 2
8p2 + 13p + 5

Find the excluded values of the following expression

7p + 2
8p2 + 13p + 5

20. uLsdler [A Qe @ewQeul iy AD . BD=4 @&, DC=3 @18 wHmw
AB=6 Q&.15 erafle, AC -eowis SHrems.

B C
4 Q&.5. D 3 Qg.18.

In the figure AD is the bisector of |[A. If BD=4 cm, DC=3 c¢cm and AB=6 cm, find
AC.

A

B C

4cm D 3cm

21. P(-1.5,3), Q(6, —2) womid R(=3, 4) < dlw Yerafllser G5 CrisGsmiged <ienwuib
Tans STL(Hs.
Show that the points P(—- 1.5, 3), Q(6, —2), R(—3, 4) are collinear.

22. (3, —2), (12, 4) eramp Leaflser cufld Qacogyd CrirsCar@® P’ HMID (6, —2) Lo LD
(12, 2) erenip yemaflaar euflé Qeceid @pw&@&sn'@ ‘P PGL. P POF ‘T-5G
@eremTiLm@GLOT ?

The line ‘p’ passes through the points (3, —2), (12, 4) and the line ‘q’ passes
through the points (6, —2) and (12, 2). Is p’ parallel to ‘Q?
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(—1, 2) eramp yeafl el Qedeugd, smiiay S eeLwgore CrirGari_iq e

FOTUTL LS &TeHurs.

. : - : =5
Find the equation of a straight line which has slope — and passing through the

point (-1, 2).

50V3 8 e wrapdtem @@ urepule 2 &8WmEg 30° @néss Caramsse
gengilgierer & (PHE e uTTESLLGEDS erafle, LE(WPBIDGLD LITEDEGLD
QL Cuiyerer Qgrenawencus sreams.

From the top of a rock 50./3 m high, the angle of depression of a car on the ground
is observed to be 30°. Find the distance of the car from the rock.

@ Garar auges auallbsnsimgayer (balloon) smhm) 2 BEULELD CuTg DS B TLD
12 Ge.8 -a\mpg 16 058 -5 2 winAng. @@ ynuuruyseailer aNgd sTeTs.

The radil.-ls of'a spherical balloon increases from 12 cm to 16 cm as air being
pumped into it. Find the ratio of the surface area of the balloons in the two

cases.

EL0 QYIBEE Desrear @Qm gabysailar e Sereysar 3600 &.Q&.5 wHm
5040 &.0g.18 erafled, 2 wiptisafler ez srairs. o

The volumes of two cones of same base radius are 3600 3
4 S arc cm” & 5 3 :
the ratio of heights. ind 5040 cm®. Find

‘@UGa‘.S'b’T@\ [BITGWT WIBISET GRS EF Gewr L L L (H & &b m et @ e b T 6887 W 1 & 6rfl @) L
QaucuCoumy amsar &enl LiLigharer B&pssa; erever ?

Two coins are tossed together. W i Titv . .
e e g s r hat is the probability of getting different faces

1

P= ¥ 5 = y Greaﬂ' _— .
x+yQ * N @, p2 _ 2 Sems.
fPp=_= , Q=Y then find :
xX+y x+y’ P‘?—QQ

[@@L‘M&S / Turn over
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Ll@')‘él - III / PART - III

GO : sTemeuGuenib 10 arés@Ers@ oL weallssab. allarm aram 42 -&@

s mwwons el wefléseyb. 10x5=50

Note : Answer any 10 questions. Question No. 42 is Compulsory.

29. A ereugl 8- L& Gameurar @we eramsaflean sanrd, B eranugl 8-83 ML &

30.

31.

32.

33.

GDeUTe LIST eramaaiien sad whmb C eremlgl @rl e Liuel LST erearseie

SeTld eTarfley, eflumids.
AX(B-C)=(AxXB)—-(AxC)

Let A= The set of all natural numbers less than 8, B= The set of all prime
numbers less than 8, C= The set of even prime numbers. Verify
AX(B—C)=(AxB)—(AXC).

R FHSEsTT euflangulen 1, m HMID n-<peug 2 MIiLseT penGW X, y LHMmID
z erafled Gemeumeuameupenn HlemNEGEe]Lb.

() x(m-n)+ym-1)+z(1-m)=0

(i) (x—yn+(y—2l+(z—xm=0

If ', m™ and n'® terms of an A.P. are x, y, z resp., then show that :

(i) xm-n)+yn-1)+z(l-m)=0

(i) (x—yn+(y—21+(z—xm=0

R FmLOSCASTLT euflansulen 6-cug LHMIL 8-eugl e puiysaflean eNfgn 7 : 9
erafled, 9-aug wHmid 13-eugl 2 miliLsenen Mg Srets.

The ratio of 6™ and 8t term of an A.P. is 7 : 9. Find the ratio of 9th term to 13th
term.

36x*—60x3+61x? —mx+n QYAH QM WP UTESD erafléd m, n 2h,& Wieu b i et

LHULSMETE STaTs.

If 36x*—60x>+61x% —mx+n is a perfect square, find the values of m and n.

8iss : pax® — (p+q)2x+ (p+q)2=0.
Solve : pgx?—(p+a)2x+(p+q)2=0.
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; —13 :
34. q, B eraLeT 7x2+ax+2=0 -Qlé pPWEIGET LOHMILD B—a=—7- erafled, ‘@’ -ufen
LIS STERTS.

-13
If o, B are the roots of 7x?>+ax+2=0 and if B—a=7- Find the values of ‘@’.

35. Ggeaev Cspmsens er(wpdl Hlemiése, .
State and prove Thales Theorem.

36. @@ owrerd olwrear floowusms AH Cwlauppg aLsE Cprésl
1000 &.15/wenfl Geussddler LPsHDG. ACs Crrsdled wWHEDTMH ellwrard HCs
efloren Hlevowsms AL (H Cuolawbg Cuneg Corédl 1200 &.05/went GCeusgslen
UD&ES g . 1% wenfl Crrsfnel UnE Q@ lbrarmsErsE QoL
Qsrenave| ereueLeTa| E)(HEGLD ?

An aeroplane after take off from an airport, flies due north at a speed of
1000 km/hr. At the same time, another aeroplane takes off from the same
airport and flies due west at a speed of 1200 km/hr. How far apart will be the two

planes after 1% hours ?

37. A(-4, -2), B(5, —1), C(6, 5) wpmidb D(—7, 6) flueupen wpearll Lerelsarmsd
Qarenr BrparsHen Lsshisefler HELILCTNSET @f QamErSams SIanLn& @D 6Ted
STL(HS.

A quadrilateral has vertices at A(—4, —2), B(5, —1), C(6, 5) and D(—-7, 6). Show
that the mid-points of its sides form a parallelogram.

38. sayulen B85 g Yaralwladl@mbg 30 B e wrepdter sl sHer Goaidarer b
Camyradlen il wpmib 2 F8uflar gopsCsarammiser weapGw 45° whmb 60° erafle,

Caryrédlen o wWrsmsd srams. (3 = 1.732)

From a point on the ground, the angles of elevation of the bottom and top of a
tower fixed at the top of a 30 m high building are 45° and 60° respectively. Find

the height of the tower. (\/3 = 1.732)
[ Hpis / Tum over
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39. 2.pib 16 Q518 sl @ sbiddr Qe ssa aligelle) DamopHs QETETHLEN
gendler GupLrd Sobs Haauid 2 arerg). SPULD Td 8 Qa8 whmid Gomym
<47ib 20 Qg.18 Qsraw Qsrasaid WE@LWISL ured BruutuGaDs. e
Ol Lt uredlar eflenav T 40 erevflav, ;_F,];rﬂudu@fn uredler Qwrgs efleneeniis &ramms.
A container open at the top is in the form of frustum of a cone of height 16 cm

with radii of its lower and upper ends are 8 cm _and 20 cm respectively. Find the
cost of milk which can completely fill the container at the rate of ¥ 40 per litre.

40. prsen eremy QUTHUIWE wrawTaT @i 2 (HEvaTUlar @HUMPLD SalbLiEET 2 eTareumm)
wrHfl gereny o paursdarri. wrdflufer et 12 @8 wHmD e Lid 3 Qa5
UG, @abeur s 2 wFwb 2 0&.8 QMméELramd preer o (meursduw
rdflufler sarsiereneus sreims.

Nathan, an engineering student was asked to make a model shaped like a cylinder
with two cones attached at its two ends. The length of the model is 12 cm and its
diameter is 3 cm. If each cone has a height of 2 cm, find the volume of the model

that Nathan made.

41. 50 memreuiiger 2 crerar ¢h eu@Llidad, 28 Guir NCC ulgyiib 30 Guit NSS -@ILD LOHMILD
18 Guir NCC wpmitb NSS @b Carflpmiaser. (I WTewTeUT FeumiliL) penuiaid
CarbOshasslu@EnrT. <6
(i) NCC -Wlled @BHgl, amd NSS -6 Geamoe
(i) NSS -a @bpgl, e NCC -l Gevavmoed
(i) eaCp gemdle) w Hb Ceipg QouushHsTar Hspssesmards srams.

In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted both

NhCC and NSS. One of the student is selected at random. Find the probability
that

(i)  The student opted for NCC but not NSS.
(ii) The student opted for NSS but not NCC.
(iii) The student opted for exactly one of them.

42, x—@a{l;@ggjﬁﬁmnrr.mgj y-Ceul psgamger Seteney 9L 5 AVGEHT NS GoTES
@a;msm_. B0 (g(LT).WGGSfTL_fTGUT@] (22, -6) eramp yerel euifls Cedflemmg erefed
215G Iq 60 FLDETLN a5 SITGHTS. |

Find the equation of the line Passing thro - ing i
wris exteis e interup. ] y_a}dg i 5u521 t(;ZZ, 6) and having Intercept on
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u@d - IV / PART - IV
S llamés@psEL eflen weflEsea|D. 2x8=16

Answer all the questions.

AB=5.5 Qg.18 [C =25° wpmib 2 &8 C -W9e@Hg AB -&@ euepywLiulL
G551ECsTIgen Herd 4 C&.18 2 e w AABC cuenys.

{60608
6 Q.8 L (parer el LD euedIHg eul L Gdlem @wWSH(MHS S Q&.5
Qsreravelgieter @ Letallanwd Ghésan. iyearalulaBig et S8DES
QsTHCsTRHs6T auanrbgl, AsTHCHT e Berhismers sausdl(Hs.

Construct a AABC such that AB=5.5 cm, |C =25° and the altitude from C to
AB is 4 cm.

OR

Draw the two tangents from a point which is 5 cm away from the centre of a
circle of diameter 6 cm. Also, measure the lengths of the tangents.

y=x2—-4x+3 -ular cuemyULLD euarHg NS ppeDd x2—6x+9=0 eremm
FOGTUTL L& ST&se] .
S{6VEVG)

X2 —4x+4=0 eTenp FLEMUT Q6T QUTULLD euerhg Sirellen semenoemiLis
FM).

Draw the graph of y=x2—4x+3 and use it to solve x2—6x+9=0.
OR
Draw the graph of x>-4x+4=0 and state the nature of their solution.

-00o0-
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